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(a) End view showing coil position
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(b) Voltage waveform




(a) Phasor
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(b) Resulting sine wave

feuauanlafui (Sinusoids)
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(a) In phase (b) Current leads (¢) Current lags
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(ﬂ) v(t) =8cos5t+6sin5t V
(1) i(¢)=10sin107 —4cos10t A

(n)v(r) =8 + 6 cos(5t —tan"(g))
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=116 cos(10f — (180° +68.20°))
=10.77cos(10z +111.8°)
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A uudvaiau (complex numbers)

O #sman (rectangular form) A=a+ jb
O #dnideia (polar form) A= |A‘4a’ = Ja* +b*Ltan™ (2)
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Faadne?l B Aviunli Z,=3+j4, Z,=1+]l
(n) asm Z]Zj
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=4+ 5
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v(t) =V, cos(wt +0) <—=—=> V =V,20
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V= (3k)10£80° m)=30.80
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v(t) = 30 cos(1007z +80°)
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Fatnei 10 fufuliyg C= 150 UE  nszuasiaimes [ =3.6/-145"p
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I =joCV
3.6£-145 = j(2x 7 x 60)150x1070

usodunaLas |:> - 3.6£-145

(2% 7 x60)(150%x107°)£90°
= 63.67£-235

25

dunuaual (Impedance)

duiueuaf Aadasndrunasuseduinaidasaanseudinadiaasiviaduiaviu ()

Y.
%zzgmﬁ Z—% Z, =R + X

uAuIUANIN

A _ X
TEUTNBITOU V — tan [_)
i /
Z=R+jX _iéev_ef R
JX : T m
L =7Z /0 -0,
o . l: Zasing Zm v (—)‘ 'sResistance
d R > it — Em=Vz \ =Reactance
H'R:Zm COS&__—H i .ﬁﬁm@qﬂ Z = R —|— jX /

Z=Z7 cos0,+jZ sinf, =R+ jX a7 =Z7,20,

m

26




ANuFuRusuasusIsunLiasnssusW I asuarduRuauduavalnsaiiuuw 84w

aUnsalwiadn |[guarsenuduius | duWiunauel

Ve =RI, 7 =R

AGIUNIY

duiilaniin V, = joll, Z=joL=jX, =wlZ90

dnAuilsey V, = Ic Z= ‘1 - =—_;'[L_‘] =—jX.= %4—90"
jaC jax 10 (

R |]|]|:> Resistance aadsienumIu

XL ﬂﬂ:> Reactance 2adduilaniin i O

X C ﬂl]l:> Reactance aavéafAiuilsey .

~/

waniinunud (Admittance)

wandiauaud Aediunduvesdniunudmiieadulniidediuud (Siemens:S)

1|1 | |
Y=—=—=G+ ]B «————susceptance uua S
ZiiiV
(conductance)uura S
aunasalwadn guATANNFUNUS uamRAwALE
AIAUNIY / :l:GV (;:L
TR . R
fatmileniin 4
I, = _‘r' Y:L:L:LA_QO'
JoL Vv, jolL ol
datAuilsey I.=joCV, y - ,1/—( _ jC = 0C290°
2 28




o 1 ] I a a P ' P P o a °
f2ae19Nn 11 unnmauNLauLRYAILAANALAUAARINILKNENUN L = 10 mH

Warnudduw =1 krad/s

AuNLau

Z = joL = j(1k)10m)= j10=10290" Q
wandauaua

1
10290

=0.1£-90" S

29
Q/ 1 A U = = 1 =
MIaeinIn 12 vmAaniuaudiazataadauwauel
o & - Y o < P d &
1avmAvlszaauyaduzneiavacin g-bllamnuiilu ¢ =1 krad/s
imF
. 112
@ I
| 2mF—— ::%ml: == I mF
c, . ﬁlllmF y
) 1
3mF
38vin  Avualviviiailu mF
PN : 2 l
AFafiudszqsiaayna I =S 1===2 1 C,=— mF
|:> +¥ —>C,
AdLAvlszasanuufy |]|]|:>C =2+0.5+ Cl =3
l ] 7
GRTETTEET GITGE I e il P
= U,, 27C, 12
mF 30

AL szqanya |||]|:> i
(‘
eq




anaunuaual @
1 1

L=—=

J0Ceq J(l k{ = m)
7
7
Ananiinuaual G@

= /-90"=—j0.583Q
12 '

31

unasldleanvia 1
AT id N laUNEN1IZAIAD

»Foyana'laniifuadusllenivasaduslialan

LW L2 TuN1sILAT LIRS |
“wilagesnnlawuna tvildulawuainud
=alasaluvuwagWil&auiludnivauduazuanfinuauaf
=gunsiuridadia

JiAsgivaslaaldnnuadialiu nguastmasuan

32




